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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]

2750 -

2500 -

2250 -

2000 -

1750

1500

col ['FVIEC'] is missing

1250

0 10 20 30 40 50 60



Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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80 ~

6é0 665
m=845,n FV0=0

70

65

60

55 -

50 -

—0—

M_w

845

8é0 865
m=1145q FV0=0

30 A

28 -

26 A

24 -

22 -

20 -

—— MW

—
i

1145

1150 1155

18.

18.

18.

18.

18.

18.

17.

17.

17.

17.

17.

17.

16.

16.

16.

16.

16.

16.

14.

14.

14.

14.

14.

14.

60

58

56 -

54 -

52 -

50

60 -

58 -

56

54

52

50

30

28 -

26

24 -

22 A

20 -

30

28 -

26

24 -

22 -

20 -

m=365, FV0=0

—— MW

il

3%0 3%5
m=705,n FV0=0

M_W

7%0 7%5
m=890,n FV0=0

—o— MW

865 960
m=1150m FV0=0

890

- MW

1150 1155 1160

m=520, FV0=0
—— MW
19.0 A
18.5
0000000000000
18.0 A
17.5 4
T T T
520 525 530
m=750,m FV0=0
17. 30
17. 28 A
17. 26
17. 24 ~
17. 22
17. 20 ~ MW
T T T
750 755 760
m=940,m FV0=0
15. 80 -
15. 78 A
15.76
15. 74
15.72
15. 70 ~ MW
940 945 950
m=1155m FVO=0
14. 30 - MW
14. 25
14. 20 ~
14.15
14.10 ~
1155 1160 1165

18.

18.

18.

18.

18.

18.

17.

17.

17.

17.

17.

17.

15.

15.

14.

14.

14.

14.

14.

14.

14.

14.

14.

14.

20

18 1

16

14 4

12 4

10

10

08 -

06 -

04 -

02 -

00 -

25 A

00 -

75 -

90 A

25 A

00 -

20

18 4

16

14

12 4

10

m=585, FV0=0

-o— MW

5é0 5é5
m=795,n FV0=0

T
585

—0— MW

860 865
m=1100m FVO=0

T
795

—0— MW

i

11b5 11H0
m=1160m FV0=0

1100

- MW

1160 1165 1170



m=1170, FV0=0

14.10 -

14. 08

14. 06

14. 04

14. 02

14. 00

- MW

T
1170

T
1175

T
1180

13. 90 -

13. 88

13. 86 A

13. 84

13. 82 A

13. 80 A

m=1205, FVO0=0

—0—

M_W

T
1205

T
1210

T
1215

13.

13.

13.

13.

13.

13.

m=1245, FV0=0

70

68

66 -

64 -

62

60

——

M_Ww

T
1245

T
1250

T
1255




hour

100

o
o
I

80

- 60

:55

- 40

:00

:05

:10

:10

§_

‘*@»
>
5
T
%



PE6AW

BYiE) | GEBIATIK () | EHME (EH/&) | EBRERE (/X)) | KR R

07:55 327 160.0 0.314 = {RRiB@07:55 B (RFAKEE)
08:55 327 160.0 0.314 = {RRiB008:55 Bz (RFAKEE)
09:55 327 160.0 0.314 5| {Ri%@09:55 B3 (FRAERSE)
10:55 327 160.0 0.314 = {RRiB@10:55 B (RFAEESE)
12:00 327 160.0 0.314 =l RRiB012:00 Bz (REAKEE)
13:05 327 160. 0 0.314 E| {Rig@13:05 Bzh (RE{ERSE)
14:10 327 160.0 0.314 E BRige14:10 Bz CGRAERESE)
15:10 327 160.0 0.314 =l RiB015:10 Bz (RFAKEE)
2it]2616.0 (8%) 1280.0 323 KEC: 1664.0, PH: 6.5

AREMTERRA (0.92) , BT

FeREHLERE STHAEART (546.0 :
EIREBAHCR AR R (600 vs 327.0))

BRIASERRIERE294. 0 ml.

FEERECE (2193.0 vs 4753.0) i3
LRGERIEC (2199.0) 5iRAVEY (1664.0) REK KX, HHRE.

294.0), AIREKRFERME




FRV (ml plant-1)

2200 - °
2000 o0 e o

1800

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P6AW W1, Day=63 (2025-06—07)

150 1y, v0, FRV, ET = VI, VO, FVI, FVO, FRV, ad jFRV, ET 80961 00

100 - 5959 L 6000
396 -

50 A 255
1500 239 2000

I143 Warning: lcol [FVI',| "FVO’'] missing 440

(Vi — MW
maxM

600

400 -

200 -

1.0
0.8 A

0.6

Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0, setECB=1664.0 ° —%—  ECB*10%
([ ] [ ] ECC

=

7.0

optPHO=6.5, setPHB=6.5 —>—  PHB*10%
o PHC

5.5 -
: 4
400 1By Init @D65 02:08: ET=2644 Fg=3200.0 Ro=566.0 " 4000
1
] 1
300 " - 3000
1
200 - : - 2000
1
100 : - 1000
0  — 0
0 1 2 3 4 5 6 7 8 9 | 10 | 11 [ 12 | 13 | 14 | 15 [ 16 | 17 [ 18 [ 19 ] 20 | 21 | 22 | 23
WTE |5 | BB | B | 5| s | B | B | k|5 |k | k| B | |kE|BE]|B|E|BE|B]| B B | B 400
1
300 1 ByEt @D63 19:34: ET=2470 Fg=3200.0 Ro=nan ; e e © |0
1
200 A : - 2000
e & © & o
100 : - 1000
1
0 ’ ’ ’ ’ = 0
0 1 2 3 ] 5 6 7 8 9 |10 | 11 [ 12 | 13 | 14 [ 15 [ 16 | 17 [ 18 [ 19 ] 20 | 21 | 22 [ 23
AWT s 5 | E | 5 |5 || 5 | B || /5 | BB | i5 | i5 | BB | is | A5 | RE | is | 5 | RE | A5 | A5 | BE | A5 | 4000
1
300{ ByWoFv @D65 02:08: ET=1232 Fg=1280.0 Ro=42.0 | 3000
1
200 - : - 2000
1 /I
100 : —3 \ = | 1000
o  —e— a— I 0
: 0 1 2 3 ] 5 6 7 8 9 [ 10 11 |12 |13 [ 14 [ 15 [ 16 | 17 [ 18 [ 19 ] 20 | 21 | 22 [ 23
HHE HEE HEE Hi HHE HEE HEE Hi HHE HEE ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES
0.8 4 B B B B B B B B B B B B B B B B B B B B B B B B
0. 6 -
0.4 -
0.2 -
0.0
1500 T | 1

[ ] | _obs
PPFD_obs

RH
60 - [ ] RH_ObS
(] RHo_obs

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



m=465, FV0=0 m=495, FV0=0 m=530, FV0=0

- MW 25.00 A - MW 25. 3 - MW 25. 4 4 - MW
24.95 A
25.2 - 25.3 A
24.90
24. 85 A 25.1 4 25.2 A
24. 80
25.0 - 25.1 -
24.75 A
24.70 24.9 25.0 A
T T T T T T T T T T T T T
600 800 1000 1200 465 470 475 495 500 505 530 535 540
m=575,m FV0=0 m=605,m FV0=0 m=645,m FV0=0 m=665,m FV0=0
- MW 24.90 A 24. 40 A - MW 24. 20 A - MW
24.88 24.38
24.15 A
24. 86 A 24. 36 A
24.10 A
24. 84 24. 34
24.05 A
24. 82 A 24. 32 A
24. 80 A MW 24. 30 A 24.00 A
T T T T T T T T T T T T
975 580 585 605 610 615 645 650 655 665 670 675
m=700,m FV0=0 m=725,m FV0=0 m=755,m FV0=0 m=785,m FV0=0
L - MW 23. 30 A - MW 22.90 A - MW 22. 40 - MW
23.25 A 22.85
22.35 A
23. 20 A 22. 80 A
23.15 A 22.75 A 22. 30 A
23.10 22.70
22. 25 A
23. 05 A 22. 65 A
23. 00 22.60 22.20 A
700 705 710 725 730 735 755 760 765 785 790 795
m=8195,m FV0=0 m=845,m FV0=0 m=875,m FV0=0 m=910,m FV0=0
- MW 21. 60 A - MW 21. 20 A . MW 20. 80 A ~ MW
21.55 A 21.15 A 20. 75 A
21.50 A 21.10 20.70 A
21. 45 A 21.05 A 20. 65 A
21. 40 21.00 20. 60
815 820 825 845 850 855 875 880 885 910 915 920



m=935, FV0=0

20. 50 A

20. 45 A

20. 40

20. 35 A

20. 30

20. 25 A

20. 20 A

—0—

MW

935

9&0
m=1165n FV0=0

T
945

19.5 ~

19.0

18.5 A

18. 0 A

—0—

M_W

T
1165

1130
m=1255n FV0=0

T
1175

18. 40

18. 38 ~

18. 36

18. 34

18. 32

18. 30 ~

—O—

M_W

1255

1260

1265

20.

19.

19.

19.

19.

18.

18.

18.

18.

18.

18.

18.

18.

18.

18.

18.

18.

00 A

95 -

90

85 -

80

40 ~

38 -

36

34 -

32

30

50

48 -

46 -

44 -

42 -

40 -

m=965, FV0=0
—— N
965 970 975
m=1215m FVO=0
—— MW
1215 1220 1225
m=1265m FV0=0
—— MW
1265 1270 1275

19.

19.

19.

19.

19.

18.

18.

18.

18.

18.

18.

m=995, FV0=0
7107 —— MW
65 -
60 -
55 -
50 -
T T T
995 1000 1005
m=1230m FV0=0
40 -
38 -
36 -
—— MW
34 -
32 -
30 4
T T T
1230 1235 1240

19.

19.

19.

19.

19.

18.

18.

18.

18.

18.

18.

40

35 -

30

25 -

20

40 ~

38 -

36

34 -

32

30 A

m=1025, FV0=0

—o—

MW

T
1025

1d30
m=1235n FV0=0

T
1035

M_W

T
1235

T
1240

T
1245




hour
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:05

:30

:35

:35

140
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:50
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P6AW

BfE) | GEBERTIC (7)) | ERE (EAH/#F) | EREE (B/R) | X8 R

04:00 320 160.0 0.314 F[ BRi%e04:00 BE1 (GRAERSE)
04:30 320 160.0 0.314 =] {Ri%e04:30 B (REAERSE)
09:05 320 160.0 0.314 = {RRi18009:05 Bz (RAEEE)
10:30 320 160. 0 0.314 = RRi8010:30 Bah (RAEESE)
11:35 320 160.0 0.314 =] BRi%ei11:35 B (GREAERSE)
12:35 320 160.0 0.314 = RiBe12:35 Bz (RAEEE)
13:40 320 160.0 0.314 = RiB013:40 Bah (REAEESE)
14:40 320 160.0 0.314 = RRiB014:40 Bz (RFAEESE)
15:50 320 160.0 0.314 = RRiB015:50 Bah (REAEEE)
21t 2880.0 (97%) 1440.0 323 KEC: 1664.0, PH: 6.5

WAFERERRA (0.92) , FHRE

TeREHLERE STAAERT (291.0 :

BRIASERRIERE160. 0 ml.
FEERECE (2170.0 vs 4758.0) i3
LRGERIEC (2215.0) 51RAIEY (1664.0) REK KX, BHRE.

160.0), FIREKRREERE




FRV (ml plant-1)

2200 | optEC0O=2600. 0, setECB=1664.0 L R X o ——  EcBHIO% P

2000

1800

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P6AW_W1, Day=62 (2025-06-06)

150 7y71, VO, FRV, ET = VI, VO, FVT, FVO, FRV, adjFRV, ET 5559

4084
100 L 4000

- 6000

2100
4 744 L
50 1500 399 2000

67 Warning: lcol [FVI',| "FVO’'] missing I143

i
¢ v — MW fg
300 1 FRV

maxM
200 +

100 - - 26

1.0 24
0.8 -
0.6
0.4 -

0.2 A
Warning: lcol ["WC1',  "WC2'] missing

0.0

° e®0o o ° ® ECC
VIEVIEVIVIENVIVIRVIIVIE VEVEVIE VIRV I VI VIVER VIRV,

7.0

optPHO=6.5, setPHB=6.5 —¢—  PHB*10%
o PHC

T e e

6.0 -

400 1+ Bylnit @D65 02:08: ET=2635 Fg=3200.0 Ro=492.0 ?4000

300 L 3000

L 2
o0
L 2
L X )

200 - 2000

100 A - 1000

e ey -

17 18 19 20 21 22 23

E3 ES ES E3 E3 ES ES
B B B B B B 5 [ 4000

0 1 2 3 4 5 6 7 8 9 10 | 11 12 [ 13 | 14 | 15
WTE 2z | W [ B[ B [F (B |[B|B[&[F[K[K|K] &

3004 ByEt @62 19:34: ET=2641 Fg=3040.0 Ro=nan & e

@ & ® J - 3000

200

- 1000

1
1
1
: L 2000
i 1
100 |
1

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
00T (x| BB BB | BB B[ @ 5 5 5 5 B 5 5 5 E A EEREEEEE R X

D65 02:08: ET=1322 Fg=1440.0 Ro=156.0 | 2000

300 4 ByWoFv

200 - 2000

- 1000

01 BFE |Zx| 5 | BB

0.6

0.4+

0.2~

0.0
1500 4

—_— 4
[ ] | _obs

1000 ~ —@— PPFD_obs

500 -

100

80 A

60

40

20 A

FRV (ml d-1)

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



28.

28.

27.

27.

27.

27.

27.

27.

27.

27.

26.

26.

27.

27.

27.

27.

26.

26.

26.

860
m=570,n FV0=0

—0—

27.50 A

27.25 A

27.00 A

26. 75 A

26. 50 -

5%5 5é0
m=695,n FV0=0

760 765
m=810,n FV0=0

m=480, FV0=0

26.0

25. 8 -

25.6

25. 4 -

25. 2

25.0 A

480

4é5 4é0
m=610,n FV0=0

27.75 + —@—

610

6%5 GéO
m=725,n FV0=0

27.4 -

27.2 4

27.0 A

26. 8

26.6 -

—— MW

i

725

750 7é5
m=840,n FV0=0

26.9 A

26. 8 -

26. 7 A

26. 6

26.5

26. 4 -

26. 3 -

-o— MW

iy
™

840

845 850

27. 25 A

27.00 A

26. 75 A

26. 50

26. 25 A

26. 00

28.

27.

27.

27.

27.

27.

27.

26.

26.

26.

26.

26.

26.

m=515, FV0=0

5&0 5é5
m=630,n FV0=0

—0—

Gé5 6&0
m=755,n FV0=0

760 7é5
m=870,n FV0=0

27.

21.

217.

27.

26.

26.

21.

27.

21.

21.

26.

26.

21.

27.

27.

27.

26.

26.

26.

26.

26.

m=550, FV0=0
-o— MW
5%0 5%5 560
m=665,n FV0=0

—o— MW

iy

665 6%0 6;5
m=780,n FV0=0

7é0 7é5 750
m=910,n FV0=0

1T —e— mw

910 915 920




m=930, FV0=0

27.0

26. 8 -

26. 6

26. 4

—o—

M_Ww

930

T
935

940

m=965, FV0=0

26. 7

26. 6

26.5 -

26. 4 -

26. 3 -

26. 2

—o—

M_W

965

T
970

975

m=995, FV0=0

26.9

26. 8

26. 7

26. 6

26.5 -

26. 4

—o—

M_W

T
995

T
1000

T
1005

m=1020, FVO=0
—— MW
27.2 4
27.0 A
26. 8
26. 6
T T T
1020 1025 1030




hour

4:00

4:30

9:05

10:25

11:55

13:20

14:50

100

80

- 60

- 40

20



P6AW

BYiE) | GEBIATK () | EHME (EH/H) | EBRERE (B/R) | XK R

04:00 320 160.0 0.314 = {RRiB004:00 Bz (RFAKEE)
04:30 320 160. 0 0.314 E| {Rig@04:30 B3h (RE{ERSE)
09:05 320 160.0 0.314 FA| 1BRi%@09:05 B3h (FKAB{EREE)
10:25 320 160.0 0.314 FA| 1BRi%@10:25 B3h (KRAHERESE)
11:55 320 160.0 0.314 FA| 1Bzi%@11:55 Bzh (RAERSE)
13:20 320 160.0 0.314 |Z=| 1Ri%e13:20 Bz (GREEZERE)
14:50 320 160.0 0.314 [ =| BRige14:50 Bzh (REERSE)
29t 2240.0 (70%) 1120.0 3 HKEC: 1664.0, PH: 6.5

WAFERERRA (0.92) , FHRE

TeREHLERE STAAERT (291.0 :

BRIASERRIERE160. 0 ml.

FEERECE (2143.0 vs 4775.0) 05

LRGERIEC (2169.0) S51RAVEY (1664.0) REK K, BHHRE.

160.0), FIREKRREERE




FRV (ml plant-1)

2900 | 0ptEC0=2600.0, setECB=1664.0 ®

2000

1800

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P6AW_W1, Day=61 (2025-06-05)

0.6

0.4+

0.2~

Warning: lcol ["WC1',  "WC2'] missing

6.0 -

300 A

200 -

100 -

Y o
o o %% % 0.0, e o, ® ECC

—>— ECBx10% [

------------------------------------------------------------------------------------- L 6000
VI, VRR88RV, ET = VI, VO, FVI, FVO, FRV, ad jFRV, ET
4084
- 4000
2800
204 2100 240
L 2000
015
33 Warning: lcol [FVI',| "FVO’'] missing 67
-0
v — o
FRV maxM

300 A

200 -

100 -

300 A

200 -

100 -

0.8

0.6

0.4+

0.2~

1000 - —@— PPFD obs

500 A

[ ] | _obs

7.0y optPHO=6.5  setPHB=6.5 —¢  PHB*10%
® PHC
° °
- U EUSPP SIS SPNSP St - S S i CU D < S S S T S——
°
. L 4000
Bylnit @iD65 02:08: ET=1868 Fg=2720.0 Ro=851.0 t
I L 3000
I P | o—eo—o—o
: /./'/ o—e—o—o_ | 2000
i | 11
! L 1000
g2 \ - 8000
01 11 2] 3] 2151611718109 J]ioJirJi2]i3[1a]15]16[]17]18]19]20T7]2112]23
A5 5 5 | 2| B 5 B i FA [A 3] A 3] [A 3] A 3] [A [A A 3] [A [A A
] L 3000
ByEt @D61 19:28: ET=1857 Fg=2240. 0 Ro=nan :
o—o—o ; —eo—o—o |
/./.\ . !
—e i o—o—o—o | .
1
= = = = 8000
01 11 2] 3] 2151161718109 JioJir]i2]i3[1a]15]16]]17]18]19]207]2172]23
A5 5 5 | 25| B 5 B B [Z=]| FA 3] A G EZH ER R EZA EZSEZI R FA BH |Z=|%2=]| KA
] L 3000
ByWoFv @}D65 02:08: ET=1015 Fg=1120.0 Ro=150.0
: L 2000
I L 1000
a: 2 -
o1 11 21 3] 415 161 7 1819 1011 2] 1@3[1a]nli6]i7]i8]m0 20Tzl 2]2]°
A5 5 5 | 25| B 5 B B [Z=]| FA 3] A G EZH ER R EZA EZSEZI R FA BH |Z=|%2=]| KA
1500 4 —_ 4

® VPD

RV (ml d-1)

L

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



25.

27.

27.

27.

27.

27.

26.

28.

27.

27.

27.

27.

27.

26.

28.

28.

27.

27.

27.

660 860
m=580,n FV0=0

T
1000

—— MW

5é5 560
m=730,n FV0=0

0_

—o— MW

i

7é5 7&0
m=885,n FV0=0

2 4

0_

- MW

~

885 890 895

m=440, FV0=0
—— MW
27.0 -
26.5 -
26.0 -
T T T
440 445 450
m=610,m FV0=0
—o— MW
27.8 -
27.6 -
27.4 -
27.2 -
27.0 -
26.8 -
T T T
610 615 620
m=770,m FV0=0
28007 o
27.75 4
27.50 -
27. 25 4
27.00 -
26. 75 -
770 775 780
m=930,m FV0=0
—— MW
28.2 -
28.0 -
27.8 -
27.6 -
27.4 -

930 935 940

m=485, FV0=0
—— MW
27.8 -
27.6 -
27.4
27.2
27.0 A
T T T
485 490 495
m=650,m FV0=0
—— MW
27. 4 -
27.2 -
27.0
26. 8 -
26. 6
T T T
650 655 660
m=820,m FV0=0
—o— MW
27.75
27. 50 A
27.25
27.00 A
26.75
820 825 830
m=960,m FV0=0
-— MW
28. 4
28. 2 -
28.0
27.8 -

960 965 970

m=540, FV0=0

27.8 -

27.6

27. 4 -

27.2 A

27.0 A

26. 8

—— MW

5&5 560
m=690,n FV0=0

27.75 A

27.50 A

27.25 A

27.00 A

26. 75 A

26. 50 A

T
690

695 700
m=855,n FV0=0

28.0 A

27.8 -

27.6

27. 4 -

27.2 A

27.0 A

26. 8 -

—o— MW

855

860 865




